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Chapter-5

MULTIPLICATION

WORKSHEET

. Solve:

A.Multiply the following by using tables.
1)6x4=_23_ 2)12x5=_6D
B. Use multiplication tables to complete the patterns.
1)2,4,6,8,_\a 12 LRI
2)3,6,9, B, 15, @ o0) 2N

C. Multiply the following.

] | 2
| )32 4 1 2) 8301
: x 4 x 7

i

- 129 61 53102

| D. State whether the following are true or false. _

1) 47 x 8=376 __ T\t Lz

2)80x 6=540__Fa1S¢,

E. Find the product.
: 3
1) 2 3 23 s
N x1 6
\ —
_‘7_1,_ 210
F g 0 1350
[ ‘S‘é aszi!-irected. 3 ’6 O
A) Estimate the following products to nearest 10. 4y
2598 x 37 % 0 6 OO)
! | )( \Q 0’
) _-___,_"_——7-—'—“,"..
000D
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B) Multiply the following using Lattice multiplication.

7358 x 9 , 1‘5 1 'L]
. 1\ 21,
¥V
4
C) Multiply the foljéwing, /7 L
y /
7 9 5
X 39

Z 185

D) Story sums. _
1) Multiply the largest 3 - digit number by the largest 2- digit number. ﬂ q q
— X
ANS. ‘Q"U]&/%A' = "f\.\OL\)r AT Y 2N Y S 229\
0 7] .
NandAd 2 Jlglt huel ot — hriq 1O
- ' RRYe MW
Lo ! N
1) A florist wants to make 37 bouquets with 45 flowers in each flowers in e_q:ch bouquet. How
many flowers does he need? 3
* A
ans. Nupobery of bouduehs - 135

Nombory o€ Hopertd = :\'1%%

L bb5 flowens doen he need -

- END -
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